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@Zc*]:
Óx�VÐÎZßV»�Z[ CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

�bÑiòìX
ÑiòìXCÙÎZwÆ ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[ 10~ zZzw .1

 (10 x 1 = 10 Marks) ��ìX  1a
/V6,� (200) ~WJÎZÑ]�XZk~Ð¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ z�zx .2

 (5 x 6 = 30 Marks) �Z]��X 6 CÙÎZwÆa ìX
/V6,� (500) ~0*õÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã0*õÎ zÎx .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa ìX

zZzw
1 : ÎZw�

XÃL»'''''�@*ìX (Null Set) {àÃL (i)

''''ÃLìX B Zzg A óA$ Zzg Z¤/ (ii)

'''ìX (Non-diagonal Elements) ~ó)zF,~âF,kÁÜ (Diagonal Matrix) Zq-zF,~âF,k (iii)

''''�@*ìX (Value) �g (Determinant) »eñf.$ (A Singular Matrix) Zq-¢°âF,k (iv)

6,''''Ì�ÇX x = a �Â Differentiable 6,x = a ó f (x) Z¤/Zq-·¶ (v)

Zk·¶»'''ìX dy / dx ÐHYñÂ y = f (x) »ZÖg (Total Function) ¬xîg6,Z¤/ZuÀ·¶ (vi)

~ (Perfect Compitition) ìÂå)� (Average Revenue Function) Zz�Mæã·¶ f (Q) Z¤/ (vii)

'''�ÇX (Value) »�g f (Q)

» (Total Cost & Marginal Cost) 6,�&Ðic*�{ìÂ·¶ÀÑ�'Zzg­Ñ�' Q0 Z¤/Zq-�Ûx»o« (viii)

6,'''''�ÇX Q0 eyy
'''''»',@¿ìX (Integration) �x Z (ix)

qgzfs~Ãy%�/~~yÅeö7ìX (x)

(Mode) c6 (d (Variane) Z�Zs (c (Median) zT6 (b (Mean) Zz� (a
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z�zx
Æ�gxy�ÛtÃìVw�NX (Function) Zzg·¶ (Relation) ģ (2)

 (System of Equation) Æa�b�)zZCÂx (Tea and Coffee) eñZzg»° (Related Goods) �ź� (3)

¥x�,X (Equilibrium Price) »ZEw�ÆáZiy7 (Substitution Method) Ð��w§i»g
4Pc - Pt = 16

-2Pc + 4Pt = 20

Æ&S:]ÃCNX (Determinant) eñf.$ (4)

(Respectively) !*nKM (Total Revenue and Cost Function) Z¤/ÀMæãZzgÑ�'»·¶ (5)

¥x (Value of Output) ìÂaZzZgÅ�g TC = 2Q3 - 3Q2 + 400Q + 5000 Zzg TR = 4000Q - 33Q2

Ì¥x�,X (Profit) �ÇZzgo« (Maximum Profit) �,�V�&Ðic*�{o«
Lumpsum ¥x�,ZzgtÌU*"$�,� MPC ìX T = 100 Zzg Yd = Y - T �V C = 1200 + 0.8Yd Z¤/ (6)

7$+mìX MPC **Ç�äÐ Tax

ìXáZiyMæãZzgÎ� 0.25Y - 200I - 176 = 0 Zzg 0.3Y + 100I - 252 = 0 »)zZ]!*nKM LM Zzg IS Z¤/ (7)

Æfg)¥x�,X CRAMER's RULE ó (Equilibrium Level of Income and Interest) ÅÑb
Å�zeöÃÒy�,X (Measures of Central Tendency) %�/~~yÅeö (8)

ÆË�zeöÃCNX (Measure of Dispersion) Z_OgÅeö (9)

zÎx
(Price & Quantity) »·¶qgzfsìXáZiy7Zzg�g (Demand and Supply) &��!ZâY»â8-Zzgg� (10)

¥x�,X (Equilibrium)

Qd1 = 23 - 5P1 + P2 + P3 Qs1 = -8 + 6P1

Qd2 = 15 - P1 + 3P2 + 2P2 Qs2 = -11 + 3P3

Qd3 = 19 - P1 + 2P2 + 4P3 Qs3 = -5 + 3P3

C Zzg Y »ZEw�ÆáZiy (Inverse of Matrix) ìXâF,k»wk C = Co + bY �V Y = C + Io Z¤/ (11)

¥x�,Zzg¥xÃgñá»ZEw�Æn�b�ñ)zZ]Ãi�,X
 Y = C + 30

C = 25 + 0.5 Y

·¶ÆÚ�äÆÑZ_ÃÒy�,XZzgU*"$�,�qgzfs·¶ÚìX (12)

f (x) = x2 + 3x+1 x-3  at x = 4    (b) f(x) = 5x2 - 8x + 9 at x = 3  (a)
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Qf = 50 - 0.4Pf Zzg Qd = 21 - 0.1Pd ywZzg)±!*iZg~!*nKM (Demand Function) Zq-�Ûx»â8-»·¶ (13)

ìÂqgzfsßg]qw~ Q = Qd + Qf �V TC = 2000 + 10Q (Total Cost Function) ìXZzgÀÑ�'
7¥x�,Z#�ÛxÃ�&Ðic*�{o«�X

Z(g:�@*�X (Discriminatory Policy) �Ûx!*iZgzV~ZqÐi~|u (a

Z(g�@*�X (Discriminatory Policy) �Ûx!*iZgzV~ZqÐi~|u (b

�qÝK�XÂ¥x�,ÐX 4 ¥ÆqÝ�{�Z]�b��Zzg°�ä 25 qgzfs].zw~ (14)

°�äZz¹¥ÐÁc*ic*�{�qÝHìX (a

M�ñ¥»qÝ�{�°�Æ�ÐÁc*ic*�{ìX (b

ZÒ¥»qÝ�{�°�ÆqÝ�{�ÐÁc*ic*�{ìX (c

4, 5, 6, 7, 8, 9, 4, 5, 5,

6, 7, 8, 9, 7, 8, 9, 6, 4, 4

   4,5, 6, 4, 4, 6

///
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